uj
Q]
-~ S 0
P 20 o
POWERED BY W B
Fu’ g gl o4
; (e ™ [:% = N ol
P S 3 Ei 2 %
EhDUM- ll Dt 5% Eoa 2,
P B zeog 66
DOOR COMPONENTS MADE IN THE USA G ¥ 334 @E
] P Z0o0n
M & o< : go
g Q3% u &
. - 112.19" MAX. OVERALL § 3592 g
Glazed Fiberglass Door ;=
‘ g @ [ o
O
"NON-IMPACT" .
INSWING / OUTSWING %
[%2]
&
2
[0} < % Lzu
RO g 5 3 3]
2 £ é 2 % o aag
xS W 5 =3
22 33 28
O =& O X O . < 2
6 2 o 5 x &0
> 2§ a o =8
: & oI o e o
= N w x % o
s - = o o
EVALUATED FOR USE IN THE STATE OF TEXAS TD ’ D R = 1 02 1 - e Ll
The Fiberglass Door system described herein complies with the 2018 International "
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building )
Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following o
conditions: 2

1. Anchors shall be os listed and spaced as shown in the details. Anchor § )
embedment to base material shall be beyond wall dressing or stucco. | © S

2. When used in areas requiring wind-borne debris protection this product is s| @
required to be protected with an impact resistant covering that complies N E
with Section R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC. ~

3. Allowable design pressure requirements must be equal to or less than the i
design pressure rating shown in the design pressure chart, sheet 1 of this né_

4. drawing. =
Conditions not covered by this drawing are subject fo further engineering Q|
analysis. =

A
TABLE OF CONTENTS £ b 3
SHEET# | DESCRIPTION =
XO | FLUSH GLAZED + -
] Typical elevations, design pressures & general notes o SHG INSWING 60.0 65.0 oate: 11/8/18
2 Door panel details (flush glazing) scate: N.T.S.
3 Slidelte panel details {flush glazing} 0x0 FLUSH GLAZED OUTSWING +6O‘0 .600 DWG. BY: MT
4 Horizontal cross sections ' ’ CHK. BY: LFS
5 Vertical cross sections DRAWING NO.:
é Vertical cross sections TX—-4911
7 Frame anchoring
sHeer 1 oF _7_

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

© 2018 R.W. BUILDING CONSULTANTS INC.



- i
. % an
—=1 097" |=— STILE CAP (PVC) TOP RAIL = > "
" (PVC) \ Yo [y ]
0.66' 07 S NTTI
Gl INTERIOR e Glde ¢8 &5
- A IR IR - T
} LR N TED =
_ e NERHES
Y ~ ~ v I g 2£9 o9
x = = -~ y * ol
{ vl \"\ —— > I:I M @ 8 33 Eg
STILE CAP (PVC) EXTERIOR /AR 2 % 85 b
WOOD STILE FIBERGLASS SKIN L § 302 Bu
WOOD STILE (0.075" MIN. THK')\ | : m§ 8¢
REINFORCED WOOD § = gg
LOCK BLOCK 3 ©
(20" HIGH) a
@ HORIZONTAL CROSS SECTION
2
2
el )
35.75" MAX. ly=
PANEL WIDTH & ) A
o 5 LD
a al =
26.25" MAX & |3 &%
D.LO. WIDTH INTERIOR EXTERIOR g =3
@ 1/2" GLASS 5 x| 8
2 BITE , a e
————  5/8" NOMINAL GLASS THK. & 4
INTERIOR o &
0>
1/8" TEMPERED GLASS Sl
L
= Se— AR SPACE §
o :
Qe & * ~~—1/8" TEMPERED GLASS g
80 % O 1 - o |
> < I < L o |Z
T = 2 SILICONE GLAZING FOAM CORE R o
=g 49 EXTERIOR COMPOUND (POLYURETHANE ) L © |G
i : e o
N [} o . N él
& 1) GLAZING DETAIL /i S
Flush Glazing /4 by
I” & S
BOTTIOM RAIL o / T =
PVC) o NE
b }E‘
~lo
PLASTPRO =
Flush glazed DATE: 11/8/18
(Fiberglass) ) scue:  N.T.S.
DWG. BY: MT
/ 2"\ VERTICAL CROSS SECTION o o LS
5 ;
\2/ TX—4911
SHEET _2 oF _7

Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915\C - Drawings\TX-4911,12,14,15.dwg

© 2018 R.W. BUILDING CONSULTANTS INC.



TOP RAL = £
——t 097" |=— STILE CAP (PVC) - SF 0
PVC Bo X o4
0.66" s e ( ) .\‘\ PO _g;;: § gg
INTERIOR . : wt o En G
: A LS
in ~ : sk fFxg 22
- N = "y 2 3g¢ %g
// v 9%% u’
STILE CAP [PVC) EXTERIOR /AR £ 5%¢ 6
WOOD STILE (0.075" MIN. THK.)\ f: L§ 8§
P 88
3 (8]
8
/"1 "\ HORIZONTAL CROSS SECTION
3
3/ )
=)
<~
lhe
35.75" MAX. S5
PANEL WIDTH & . O3
2 |5 22
I
26.25" MAX Bl Wl
D.LO. WIDTH INTERIOR EXTERIOR ) 2 EL\T_”
| [
@ 1/2" GLASS , " S 3| &
BITE . 2 =
—— 5/8"NOMINAL GLASS THK. £ g
INTERIOR
Bl
1/8" TEMPERED GLASS "
Q
S ARSPACE 8
o
9w b= 1/8" TEMPERED GLASS €
2 % 1 - 8 2
T -t v FOAM CORE = 6
<% b 3 SILICONE GLAZING ol O
=D 39 EXTERIOR COMPOUND (POLYURETHANE ) 2 g
KK Fa) & )
o~ o
™~ ©1).GLAZING DETAIL =
Flush Glazing ) l&.l
1’7 8
- i py
BOTIOM RAIL S N
(PVC) ™ b Sl
D | N5
-lo
PLASTPRO Z
Flush glazed oare: 11/8/18
{Fiberglass) scate:  N.T.S.
DWG. BY: MT
* /2)\.VERTICAL CROSS SECTION o ov:_LFS
DRAWING NO.:
\3/ TX—4911
sHEEr 3 oF _7

ZA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-49150\C - Drawings\TX-4911,12,14,15.dwg

© 2018 R.W. BUILDING CONSULTANTS ING,



1
o
@ @ 33 2
5 5 i EXx 8 s
¢ H % Qg , . -
SIDELITE PANEL : feizo@ e 2 3 o 24
> > i i 3 W R
, EXTERIOR L i6iT X 53 Lo 27
“ i 2 ca 353
/ / / WP IZ & 3 538 aE
A %A 7 SRR g>s fg
/; /; /; Tt s &8° ou
/ / / N @ ONg oy
T 287 bu
2X FRAMING § g%g .o
m - /14\ P (G >=0.42) g 502 gg
_ \4/ #8 X 2.5" COURSE THREAD _/ > § 8o
\ 4 /i O DRYWALL SCREW £ £
O Xm e~ {See Note 1) £ @ 8
NG
\ 1 DEADBOLT: KWIKSET SIGNATURE SERIES T T
// // // | (980/985) INTERIOR LN \ _
/// /// 4/ ~ LATCH: KW!KSET9§;I$-NATURE SERIES e DRYWALL o .
/ / / {991) . S z
#10X 2.5" PFH S| 28
1/4" MAX. WOOD SCREW £ ol.. ES
SHIM SPACE 2 43 gv
P4 a2
O e 59
b b < q CORNER PADS (TYP.) ) Ig
1"\ HORIZONTAL CROSS SECTION 5 M
5 /3\ /1\ m 4 W Outswing shown - Inswing also approved é e
&/ N8/ g |z
| £
0-75“ e —— ] '5" e ] '
8
! ] #8 X 3/4" PFH SMS 4"HINGE S
\ i BOOR PANEL LATCH STRIKE PLATE S
\ #8X 2.5 PFH WOOD SCREW #8 X 1" PFH SMS o
N
SIDELITE PANEL [ 48 X 2.1/2" PFH WS 3 2
[ -l
% o / S %
L] ‘ =
S ~ ju
/ 3
5
ENDURA WEATHERSTRIP S
\ #8 X 2.5" COURSE THREAD (QEBD 650] / \“ g "
DRYWALL SCREW DOOR PANEL SIDELITE PANEL < ’;QE
] 125 = 25" (See Note 1) #8 X 2.5" COURSE THREAD =
DRYWALL SCREW -2
JAMB / HEAD FATBOT’lNMEULUON / (See Note 1) owe 11,/8/18
PINE 4-3/8" FATBOY PINE MULLION e NS
DWG. BY: MT
N 4-3/8" FATBOY PINE MULLION s
HORIZONTAL CROSS SECTION el
NOTE: - , \U Outswing shown - Inswing also approved m HORIZONTAL CROSS SECTION DRAWING NO.:
1. Spacing for sidelite screws: 6.5, 38.5" \_4_/ Outswing shown - Inswing also approved TX—4911
and 69" from head to sill {3 fotal}. o 4 o 7

Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915\C - Drawings\TX-4911,12,14,15.dwg

@ 2018 R.W. BUILDING DONSULTANTS INC.



Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

EXT. SHEATHING \ 4

174" MAX.

SHIMSPACE ~ ~—__fflLl1

DOOR PANEL \

0.15"
C'SINK
(TYP.)

yi

\— HEAD

ENDURA WEATHERSTRIP
(QEBD/PE 650)

EXTERIOR A\

INTERIOR

/"1 "\ VERTICAL CROSS SECTION

W Outswing shown - inswing also approved

—] 2X FRAMING
< (G >=0.42)

o / DRYWALL
“L—#10x25 PFH
-1 WooD SCREW

2X FRAMING
(G >=0.42)

DRYWALL —\ g7

1/4" MAX.

SHIMSPACE |-

1.

: /— EXT. SHEATHING

1 #10x 2.5" PFH

WOOD SCREW

SIDELITE PANEL —\

#8 X 2.5" COURSE THREAD /

DRYWALL SCREW
({See Note 1)

INTERIOR

0.15"
C'SINK
(TYP.)

.

/4

\v HEAD

EXTERIOR

7“2\ VERTICAL CROSS SECTION

W Inswing shown - Outswing also approved

yi

0
»
o

X *’.‘_23 ; . o
&N {%‘2235 PR
Thropden™

NOTE:
Spacing for sidelite screws:
4" from each end {2 total).

4
N
R 0
Yo o
[ 0 i
) £ % a L
]9 . .8 £
0w (Sl 1<
] . z z
byluwt -dsw
\C g D |
)
NEIRIEE
< <]
5 EE0 =
2 59 @
2>1
go"
5 &% ¢
@ Oa -
° 2387 u
® Zme ©
8 3‘5 a
£ RoE %
S
3
[
o
£ g‘ g
2 [~
o
o

CERTIFICATE OF REGISTRATION # F—11852

ENDURA
VERTICAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

LFS
Y

REVISIONS

11/10/21|UPDATE TO 2018 IBC/IRC CODE

NOJ DATE

1

oate: 11/8/18

Scate:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX-4911

SHEET _ 5 oF _7

© 2018 R.W. BUILDING CONSULTANTS INC.



. Z:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-4915)\C - Drawings\TX-4911,12,14,15.dwg

-1 — A\
ENDURA WEATHERSTRIP A 4
00K ?i ENDURA DOOR ENDURA (QEBD/PE 650) ST Ry, Q]
D \ DOOR SWEEP o S a4 .
QOOR SWEEP PANEL - . L et 30) 2‘\ g 7]
PANEL ) (DBK-ZAC) DOOR SRS i N2 5 gy
(DBK-R) SaxFTis e [ NEE 8 bE
/PANEL 7 L iTi oY lylsr 8 oue
an Ol o3 %, S oB B~
i G BT AT) > - z" z)
FELS i e X N e Foyn bk
s Of FRTME RN ge << ~ - lf 2w
= bt 7 izic & 8§ B2 2,
IR He R N T 2a 58
; N Hhn, iRl FRD 5F 5E8 GE
Qo j B E T 384 4
2 eSS | BB EE
INTERIOR INTERIOR EXTERIOR EXTERIOR Miadanss™ & ©Ov: £§
3 28% b,
® £m, Of
#10X 2.5 PFH WOOD SCREW OR p, MO 2 243 gy
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5" PFH WOOD SCREW OR /4 X 2-3/4" DEWALT OR ITW CONCRETE SCREW | Spacing for sidelie screws: £ Bobosx
1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW 1/4" X 2-3/4" DeWALT OR ITW CONCRETE SCREW 6" from each end (2 fotal). £ § E
Q@
71"\ VERTICAL CROSS SECTION / 2"\ VERTICAL CROSS SECTION /3" VERTICAL CROSS SECTION E éo
i i Inswing Articulating Threshold i 3
w Inswing Adjustable Threshold \y g g Thr SDELTE _ W Outswing Bump Threshold 8
SIDELITE PANEL ™|
PANEL '
v
#8 X 2.5" COURSE THREAD #8 X 2.5" COURSE THREAD —— S ‘§
DRYWALL SCREW DRYWALL SCREW EJL L. 8 8
(SEE NOTE 1) (SEE NOTE 1) § a5 S8
INTERIOR INTERIOR EXTERIOR = é s T
e L Llal >0
) 1] g
.. &< o
3] 5
#10 X 2.5" PFH WOOD SCREW OR #10 X 2.5 PFH WOOD SCREW OR 3 C
/4 \ VERTICAL CROSS SECTION (5 "\ VERTICAL CROSS SECTION b
w Inswing configuration \AJ Outswing configuration =
¢ — o P [ 8
=z [} - - f\ £ = = O
- | = 2 = g
P 456 | [ 456" | bl 456 | [ | & 2
1 )INSWING ADJUSTABLE THRESHOLD 2 \INSWING ADJUSTABLE THRESHOLD @ INSWING ADJUSTABLE THRESHOLD 4 ) INSWING ADJUSTABLE THRESHOLD 5 ) INSWING ADJUSTABLE THRESHOLD z 2
ZAIL4565 ZAI4565FN ZAILAA4565 ZAIAA4565FN LAI4565RDS N é
[MAX. DESIGN PRESSURE = #50 PSF | 2
=
= [
2 % 5
L 3 | N
b l——ase | a6 | 456 ——~] py7— S
o ) INSWING ARTICULATING THRESHOLD 7} INSWING ARTICULATING THRESHOLD g \INSWING ARTICULATING THRESHOLD 3"} INSWING ARTICULATING THRESHOLD 10)NSWING ARTICULATING THRESHOLD RE
ZACL4565 IAC4565FN IACLAA4565 ZACAA4565FN IAC4565RDS _lo
P
AX. =%
[MAX. DESIGN PRESSURE = +45 PSF | e 1175/
5 1 scuE N.T.S.
- =) , B DWG. BY: MT
* = 456" | - 4.5¢" | CHK. B:  LFS
17) QUISWING THRESHOLD OUTSWING THRESHOLD 13)-OUBWING THRESHOLD PRAING Mo
7OBL4565 12 e Z0B4565RDS TX—4911

[ MAX. DESIGN PRESSURE = £55 PSF |

SHEET 6 oF 7

© 2018 R.W. BUILDING CONSULTANTE ING.



Z\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1021 Flush GLZ Plastpro FG door (4910-49150C - Drawings\TX-4911,12,14,15.dwg

il 2X FRAMING (BY OTHERS)
= w. Z
Qog
:L a. ; q- " 6"
398 ! ] = )
s Q ﬂ £ (TYP) —— }--— (TYP.) :
z w» - |
T - T I T 1 I T
SEE HINGE —_ |- \ __B ;
DETAIL 1 NEH T #10 X 2.5" PFH DETAIL 1 ’ o
£ WOOD SCREW .o g <
S (TYP. @ HEAD DETAIL 1 CE Fao
5 & JAMBS) =l == g
. 8 o
© \ O
3 IR
/EEB » ] ] iﬂ -
SEE HINGE N | / 1
DETAIL 2 B 1 SEESTRKE ~/ ) umu #8 X 3" COURSE
DETAIL DRYWALL SCREW 'rx
\ ] . 35 Nl
a8 DETAILZ / \ DETAIL 2 z= BN
n O
L l ' i I " ~oO DETAIL 1
_— % = o - - - Integral mullion attachment
il P. S
(4.: (T\)(P.) e #8 X 3" COURSE
2" (TYP) ——] |=— #10 X 2.5" PFH WOOD SCREW DRYWALL SCREW
1/4" X 2-3/4" DeWALT OR
FLOOR SUBSTRATE MATERIAL {TYP.
HINGE JAMB CONGRUTE (N 3000 Pol ¢ TW CONCRETESCREW ~ STRIKE JAMB
g FRAME ANCHORING (TYP @ SILL)
Integral mullion attachment
*NOTE: These anchors required for D.P. > 45 PSF.
) _/ #8X 2-1/2' PFH WS
o |l @ Z
" /. : “
#8 X 1" PFH wsé:' 01, S #8x 374 PrH WS
" 1— 4" X 4" HINGE
\)
CONCRETE ANCHOR NOTES: \}\ N
1. Concrete anchor locations at the cormers may be adjusted to maintain the min.
edge distance to mortar joints. ANSI DEADBOLT HINGE DETAIL 1
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to STRIKE PLATE
maintain the min. edge distance to mortar joints, additional concrete anchors #10X 3" PFH WS (4) T m+_
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. -4 s #8 X 2-1/2" PFH WS
3. Concrete anchor table: T N ry
#8 X 2-1/2" PFH WS (2) . o |lle<
{7 LATCH STRIKE #8 X 1" PFH WS 41. 11, SIS #8 X 3/4" PFH WS
= PLATE T 4" X 4" HINGE
, \\
' ® 1/4" 1-3/4" 2-1/2" 3" \
L“;‘:ﬁ'r“ STRIKE DETAIL
e " " " " HINGE DETAIL 2
ULTRACON®| 1/4 1-3/4 1 8

ui
ay
o 0
o
- w 58
£% g; %oo
3 s £
dogn 2l
h:ﬂ- —.5 g b
c .Efr- 4%
S 9% 22
T oo 55
> HE8 BE
3 239 @
a>v 0
Zow &
ow &
s 8R. £o
[:4) o n.%
g 285% u
° §m, oY
2 256 o
) 5082 4
&: maao 68
b
2
£ k
g i
P Qb
3
(3]
0O
o
[G]
=z
S
<
g |3
D ] -4
=z m] <C
L ELU
e
< B
5 14
8 o
el |E
o o
O
Lim

REVISIONS

11/10/21{UPDATE TO 2018 IBC/IRC CODE

1

NOJ DATE

patE: 11/8/18

scAle:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4911

SHEET 7 oF 7

© 2018 R.W. BUILDING CONBULTANTS INC.



